

Generalized local Taylor's formula with local fractional derivative

Yang Xiao-Jun

Department of Mathematics and Mechanics, China University of Mining and Technology, Xuzhou Campus, Xuzhou, Jiangsu, 221008, P. R. C

dyangxiaojun@163.com

In the present paper, a generalized local Taylor formula with the local fractional derivatives is derived from the local fractional calculus. An application to approximation of Mittag-Leffler function in fractal space is also given.

Keywords: local fractional calculus, local fractional derivatives, fractal space, Mittag-Leffler function, generalized local fractional Taylor's formula

MS2010: 26Axx, 26A24, 26A27

1 Introduction

The local fractional Taylor formula has been generalized by many authors. Kolwankar and Gangal had already written a classically formal version of the local fractional Taylor series [1,2]

$$f(x) = \sum_{i=0}^n \frac{f^{(i)}(y)}{\Gamma(1+i)} (x-y)^i + \frac{D^\alpha f(y)}{\Gamma(1+\alpha)} (x-y)^\alpha + R_\alpha(x, y) \quad (1.1)$$

where $D^\alpha f(y)$ is the Kolwankar and Gangal local fractional derivatives, denoted by

$$D^\alpha f(y) = \lim_{x \rightarrow y} \frac{d^\alpha [f(x) - f(y)]}{[d(x-y)]^\alpha} \quad (1.2)$$

and its reminder is

$$R_\alpha(x, y) = \frac{1}{\Gamma(1+\alpha)} \int_0^{x-y} \frac{dF(y, t, \alpha, n)}{dt} (x-y-t)^\alpha dt \quad (1.3)$$

where $F(y, x-y, \alpha) = \frac{d^\alpha (f(x) - f(y))}{[d(x-y)]^\alpha}$.

On the other hand, Adda and Cresson obtained the following relation[3]

$$f(x) = f(y) + \frac{d^\alpha f(y)}{\Gamma(1+\alpha)} [\sigma(x-y)]^\alpha + R_\sigma(x, y) \quad (1.4)$$

with $R_\sigma(x, y) = \sigma \frac{1}{\Gamma(1+\alpha)} \int_0^{x-y} \frac{dF_\sigma(y, \sigma t, \alpha)}{dt} (\sigma(x-y-t))^\alpha dt$ and $\lim_{x \rightarrow y^\sigma} \frac{R_\sigma(x, y)}{(\sigma(x-y))^\alpha} = 0$,

where $F_\sigma(y, \sigma(x-y), \alpha) = D_{y, -\sigma}^\alpha [\sigma(f - f(y))](x)$

and Adda and Cresson's local fractional derivative is denoted by

$$d_\sigma^\alpha f(y) = \lim_{x \rightarrow y^\sigma} D_{y, -\sigma}^\alpha [\sigma(f - f(y))](x). \quad (1.5)$$

Recently, Yang and Gao proposed the generalized local fractional Taylor series to study the Newton iteration method and introduced the following generalized local fractional Taylor series [7]

$$f(x) = \sum_{k=0}^{\infty} \frac{f^{(k\alpha)}(x_0)}{\Gamma(1+k\alpha)} (x-x_0)^{k\alpha} \quad (1.6)$$

with $a < x_0 < \xi < x < b$, $\forall x \in (a, b)$ and Gao-Yang-Kang local fractional derivative is denoted by [4-8]

$$f^{(\alpha)}(x_0) = \left. \frac{d^\alpha f(x)}{dx^\alpha} \right|_{x=x_0} = \lim_{x \rightarrow x_0} \frac{\Delta^\alpha (f(x) - f(x_0))}{(x-x_0)^\alpha}, \quad (1.7)$$

with $\Delta^\alpha (f(x) - f(x_0)) \cong \Gamma(1+\alpha) \Delta (f(x) - f(x_0))$.

Successively, the sequential local fractional derivatives is denoted by

$$f^{((k+1)\alpha)}(x) = \overbrace{D_x^{(\alpha)} \dots D_x^{(\alpha)}}^{k+1 \text{ times}} f(x). \quad (1.8)$$

If there exists the relation

$$|f(x) - f(x_0)| < \varepsilon^\alpha \quad (1.9)$$

with $|x - x_0| < \delta$, for $\varepsilon, \delta > 0$ and $\varepsilon, \delta \in \mathbb{R}$. Then $f(x)$ is called local fractional continuous on the interval (a, b) , denoted by

$$f(x) \in C_\alpha(a, b). \quad (1.10)$$

and sequential local fractional continuity is denoted by

$$C_\alpha^k(a, b) \quad (1.11)$$

or

$$f(x) \in C_\alpha^k(a, b).$$

However, the proof of the generalized local fractional Taylor series is not given.

As a pursuit of the work we give some results for generalized local fractional

Taylor formula by using the generalized mean value theorem for local fractional integrals and prove it.

2 Preliminaries

Definition 1

Let $f(x)$ is local fractional continuous on the interval $[a, b]$ Local fractional integral of $f(x)$ of order α in the interval $[a, b]$ is defined [4,6-7]

$${}_a I_b^{(\alpha)} f(x) = \frac{1}{\Gamma(1+\alpha)} \int_a^b f(t) (dt)^\alpha = \frac{1}{\Gamma(1+\alpha)} \lim_{\Delta t \rightarrow 0} \sum_{j=0}^{N-1} f(t_j) (\Delta t_j)^\alpha, \quad (2.1)$$

where $\Delta t_j = t_{j+1} - t_j$, $\Delta t = \max\{\Delta t_1, \Delta t_2, \Delta t_j, \dots\}$, and $[t_j, t_{j+1}]$ for $j=0, \dots, N-1$, $t_0 = a, t_N = b$, is a partition of the interval $[a, b]$.

Here, it follows that

$${}_a I_a^{(\alpha)} f(x) = 0 \quad \text{if } a = b; \quad (2.2)$$

$${}_a I_b^{(\alpha)} f(x) = -{}_b I_a^{(\alpha)} f(x) \quad \text{if } a < b; \quad (2.3)$$

$$\text{and } {}_a I_a^{(0)} f(x) = f(x). \quad (2.4)$$

Properties of the operator can be found in [6]. We only need here the following:

For any $f(x) \in C_\alpha(a, b)$, $0 < \alpha \leq 1$, we have

$${}_{x_0} I_x^{(k\alpha)} f(x) = \overbrace{{}_{x_0} I_x^{(\alpha)} \dots {}_{x_0} I_x^{(\alpha)}}^{k \text{ times}} f(x); \quad (2.5)$$

$${}_{x_0} I_x^{(k\alpha)} x^{k\alpha} = \frac{\Gamma(1+k\alpha)}{\Gamma(1+(k+1)\alpha)} x^{(k+1)\alpha}. \quad (2.6)$$

For $0 < \alpha \leq 1$, $f^{(k\alpha)}(x) \in C_\alpha^k(a, b)$, then we have

$$\left({}_{x_0} I_x^{(k\alpha)} f(x) \right)^{(k\alpha)} = f(x), \quad (2.7)$$

Where ${}_{x_0} I_x^{(k\alpha)} f(x) = \overbrace{{}_{x_0} I_x^{(\alpha)} \dots {}_{x_0} I_x^{(\alpha)}}^{k \text{ times}} f(x)$ and $f^{(k\alpha)}(x) = \overbrace{D_x^{(\alpha)} \dots D_x^{(\alpha)}}^{k \text{ times}} f(x)$.

For $f(x) = g^{(\alpha)}(x) \in C_\alpha[a, b]$, then we have [6]

$${}_a I_b^{(\alpha)} f(x) = g(b) - g(a). \quad (2.8)$$

Theorem 1 (Mean value theorem for local fractional integrals)

Suppose that $f(x) \in C_\alpha[a, b]$, we have [6]

$${}_a I_b^{(\alpha)} f(x) = f(\xi) \frac{(b-a)^\alpha}{\Gamma(\alpha+1)}, \quad a < \xi < b. \quad (2.9)$$

Theorem 2

Suppose that $f^{(k\alpha)}(x), f^{((k+1)\alpha)}(x) \in C_\alpha(a, b)$, for $0 < \alpha \leq 1$, then we have

$${}_{x_0} I_x^{(k\alpha)} [f^{(k\alpha)}(x)] - {}_{x_0} I_x^{((k+1)\alpha)} [f^{((k+1)\alpha)}(x)] = f^{(k\alpha)}(\xi) \frac{(x-x_0)^{k\alpha}}{\Gamma(k\alpha+1)}, \quad (2.10)$$

with $a < x_0 < \xi < x < b$, where ${}_{x_0} I_x^{((k+1)\alpha)} f(x) = \overbrace{{}_{x_0} I_x^{(\alpha)} \dots {}_{x_0} I_x^{(\alpha)}}^{k+1 \text{ times}} f(x)$ and

$$f^{((k+1)\alpha)}(x) = \overbrace{D_x^{(\alpha)} \dots D_x^{(\alpha)}}^{k+1 \text{ times}} f(x).$$

Proof. From (2.5) and (2.9), we have

$${}_{x_0} I_x^{((k+1)\alpha)} [f^{((n+1)\alpha)}(x)] = {}_{x_0} I_x^{(k\alpha)} \left[\frac{1}{\Gamma(1+\alpha)} \int_{x_0}^x f^{((n+1)\alpha)}(x) (dt)^\alpha \right] \quad (2.11)$$

$$= {}_{x_0} I_x^{(k\alpha)} \left(f^{(k\alpha)}(x) - f^{(k\alpha)}(\xi) \right) \quad (2.12)$$

$$= {}_{x_0} I_x^{(k\alpha)} f^{(k\alpha)}(x) - {}_{x_0} I_x^{(k\alpha)} f^{(k\alpha)}(\xi). \quad (2.13)$$

Successively, it follows from (2.13) that

$${}_{x_0} I_x^{(k\alpha)} f^{(k\alpha)}(\xi) = f^{(k\alpha)}(\xi) {}_{x_0} I_x^{(k\alpha)} 1 \quad (2.14)$$

$$= f^{(k\alpha)}(\xi) {}_{x_0} I_x^{((k-1)\alpha)} \left[\frac{1}{\Gamma(1+\alpha)} (x-x_0)^\alpha \right]$$

$$(2.15)$$

$$= f^{(k\alpha)}(\xi) {}_{x_0} I_x^{((k-2)\alpha)} \left[\frac{\Gamma(1+\alpha)}{\Gamma(1+2\alpha)} \bullet \frac{1}{\Gamma(1+\alpha)} (x-x_0)^{2\alpha} \right]$$

$$(2.16)$$

$$= f^{(k\alpha)}(\xi) \frac{(x-x_0)^{k\alpha}}{\Gamma(k\alpha+1)} \quad (2.17)$$

Hence we have the result.

Remark. When $k = 0$, considering the formula

$${}_{x_0} I_x^0 [f^{(0)}(x)] - f(x) + f(x_0) = f(x_0), \text{ we have } {}_a I_x^0 [f^{(0)}(x)] = f(x).$$

Theorem 3 (Generalized mean value theorem for local fractional integrals)

Suppose that $f(x) \in C_\alpha[a, b], f^{(\alpha)}(x) \in C(a, b)$, we have

$$f(x) - f(x_0) = f^{(\alpha)}(\xi) \frac{(x-x_0)^\alpha}{\Gamma(\alpha+1)}, \quad a < x_0 < \xi < x < b. \quad (2.18)$$

Proof. Taking $k=1$ in (2.10), we deduce the result.

3 Generalized local fractional Taylor's formula

In this section we will introduce a new generalization of local fractional Taylor formula that involving local fractional derivatives. We will begin with the mean value theorem for local fractional integrals.

Theorem 4 (Generalized local fractional Taylor formula)

Suppose that $f^{((k+1)\alpha)}(x) \in C_\alpha(a, b)$, for $k=0, 1, \dots, n$ and $0 < \alpha \leq 1$, then we have

$$f(x) = \sum_{k=0}^n \frac{f^{(k\alpha)}(x_0)}{\Gamma(1+k\alpha)} (x-x_0)^{k\alpha} + \frac{f^{((n+1)\alpha)}(\xi)}{\Gamma(1+(n+1)\alpha)} (x-x_0)^{(n+1)\alpha} \quad (2.19)$$

with $a < x_0 < \xi < x < b, \forall x \in (a, b)$, where $f^{((k+1)\alpha)}(x) = \overbrace{D_x^{(\alpha)} \dots D_x^{(\alpha)}}^{k+1 \text{ times}} f(x)$.

Proof. Form (2.10), we have

$${}_x I_x^{(k\alpha)} [f^{(k\alpha)}(x)] - {}_{x_0} I_x^{((k+1)\alpha)} [f^{((k+1)\alpha)}(x)] = f^{(k\alpha)}(a) \frac{(x-x_0)^{k\alpha}}{\Gamma(k\alpha+1)}. \quad (2.20)$$

Successively, it follows from (2.20) that

$$\sum_{k=0}^n \left({}_x I_x^{(k\alpha)} [f^{(k\alpha)}(x)] - {}_{x_0} I_x^{((k+1)\alpha)} [f^{((k+1)\alpha)}(x)] \right) = f(x) - {}_{x_0} I_x^{((n+1)\alpha)} [f^{((n+1)\alpha)}(x)] \quad (2.21)$$

$$= \sum_{k=0}^n f^{(k\alpha)}(x_0) \frac{(x-x_0)^{k\alpha}}{\Gamma(k\alpha+1)}. \quad (2.22)$$

Applying (2.9) and (2.22), we have

$${}_x I_x^{((n+1)\alpha)} \left[f^{((n+1)\alpha)}(x) \right] = \frac{1}{\Gamma(1+\alpha)} \int_{x_0}^x {}_a I_{x_0}^{(n\alpha)} f^{((n+1)\alpha)}(x) (dt)^\alpha \quad (2.23)$$

$$= \frac{{}_a I_{x_0}^{(n\alpha)} \left[f^{((n+1)\alpha)}(\xi) (x-x_0)^\alpha \right]}{\Gamma(1+\alpha)} \quad (2.24)$$

$$= f^{((n+1)\alpha)}(\xi) \frac{{}_a I_{x_0}^{(n\alpha)} (x-x_0)^\alpha}{\Gamma(1+\alpha)} \quad (2.25)$$

$$= \frac{f^{((n+1)\alpha)}(\xi) (x-x_0)^{(n+1)\alpha}}{\Gamma(1+(n+1)\alpha)} \quad (2.26)$$

with $a < x_0 < \xi < x < b$, $\forall x \in (a, b)$.

Combing the formulas (2.22) and (2.26) in (2.20), we have the result.

Theorem 5

Suppose that $f^{((k+1)\alpha)}(x) \in C_\alpha(a, b)$, for $k = 0, 1, \dots, n$ and $0 < \alpha \leq 1$, then we have

$$f(x) = \sum_{k=0}^n \frac{f^{(k\alpha)}(0)}{\Gamma(1+k\alpha)} x^{k\alpha} + \frac{f^{((n+1)\alpha)}(\theta x) x^{(n+1)\alpha}}{\Gamma(1+(n+1)\alpha)} \quad (2.27)$$

with $0 < \theta < 1$, $\forall x \in (a, b)$, where $f^{((k+1)\alpha)}(x) = \overbrace{D_x^{(\alpha)} \dots D_x^{(\alpha)}}^{k+1 \text{ times}} f(x)$.

Proof. Applying (2.19), for $x_0 = 0$ and $a < x_0 < \xi < x < b$, we have

$$f(x) = \sum_{k=0}^n \frac{f^{(k\alpha)}(0)}{\Gamma(1+k\alpha)} x^{k\alpha} + \frac{f^{((n+1)\alpha)}(\xi) x^{(n+1)\alpha}}{\Gamma(1+(n+1)\alpha)}. \quad (2.28)$$

If $\xi = \theta x$, then we have

$$\frac{f^{((n+1)\alpha)}(\xi) x^{(n+1)\alpha}}{\Gamma(1+(n+1)\alpha)} = \frac{f^{((n+1)\alpha)}(\theta x) x^{(n+1)\alpha}}{\Gamma(1+(n+1)\alpha)} \quad (2.29)$$

with $0 < \theta < 1$.

Hence, the proof of the theorem is completed.

4 Applications: generalized local fractional series and approximation of functions

Theorem 6 (Generalized local fractional Taylor series)

Suppose that $f^{((k+1)\alpha)}(x) \in C_\alpha(a, b)$, for $k = 0, 1, \dots, n$ and $0 < \alpha \leq 1$, then we have

$$f(x) = \sum_{k=0}^{\infty} \frac{f^{(k\alpha)}(x_0)}{\Gamma(1+k\alpha)} (x-x_0)^{k\alpha} \quad (2.30)$$

with $a < x_0 < x < b$, $\forall x \in (a, b)$, where $f^{((k+1)\alpha)}(x) = \overbrace{D_x^{(\alpha)} \dots D_x^{(\alpha)}}^{k+1 \text{ times}} f(x)$.

Proof. From (2.19), taking the reminder

$$R_n = \frac{f^{((n+1)\alpha)}(\xi) x^{(n+1)\alpha}}{\Gamma(1+(n+1)\alpha)} \quad (2.31)$$

as $n \rightarrow \infty$, we have the following relation

$$\lim_{n \rightarrow \infty} R_n = \frac{f^{((n+1)\alpha)}(\xi) x^{(n+1)\alpha}}{\Gamma(1+(n+1)\alpha)} = 0. \quad (2.32)$$

That is to say,

$$f(x) = \sum_{k=0}^{\infty} \frac{f^{(k\alpha)}(x_0)}{\Gamma(1+k\alpha)} (x-x_0)^{k\alpha}. \quad (2.33)$$

Therefore the theorem is proved.

Theorem 7 (Generalized local fractional Mc-Laurin's series)

Suppose that $f^{((k+1)\alpha)}(x) \in C_\alpha(a, b)$, for $k = 0, 1, \dots, n$ and $0 < \alpha \leq 1$, then we have

$$f(x) = \sum_{k=0}^{\infty} \frac{f^{(k\alpha)}(0)}{\Gamma(1+k\alpha)} x^{k\alpha} \quad (2.34)$$

with $a < 0 < x < b$, $\forall x \in (a, b)$, where $f^{((k+1)\alpha)}(x) = \overbrace{D_x^{(\alpha)} \dots D_x^{(\alpha)}}^{k+1 \text{ times}} f(x)$.

Proof. Taking $x_0 = 0$ in (2.30), we obtain the result.

Theorem 8 (Theorem for approximation of functions)

Suppose that $f^{((k+1)\alpha)}(x) \in C_\alpha(a, b)$, for $k = 0, 1, \dots, n$ and $0 < \alpha \leq 1$, then we have

$$f(x) \cong \sum_{k=0}^{n=N} \frac{f^{(k\alpha)}(x_0)}{\Gamma(1+k\alpha)} (x-x_0)^{k\alpha} \quad (2.34)$$

with $a < x_0 < x < b$, $\forall x \in (a, b)$, where $f^{((k+1)\alpha)}(x) = \overbrace{D_x^{(\alpha)} \dots D_x^{(\alpha)}}^{k+1 \text{ times}} f(x)$.

Furthermore, the error term R_n^N has the form

$$R_n^N = \frac{f^{((N+1)\alpha)}(\xi) x^{(N+1)\alpha}}{\Gamma(1+(N+1)\alpha)}. \quad (2.34)$$

Proof. The proof follows directly from (2.19).

Example

The Mittag-Leffler function [8] with fractal dimension α is defined as

$$E_\alpha(x^\alpha) = \sum_{k=0}^{\infty} \frac{x^{\alpha k}}{\Gamma(1+k\alpha)}.$$

There exists a polynomial

$$E_\alpha(x^\alpha) \cong 1 + \frac{x^\alpha}{\Gamma(1+\alpha)} + \frac{x^{2\alpha}}{\Gamma(1+2\alpha)} + \dots + \frac{x^{N\alpha}}{\Gamma(1+N\alpha)}.$$

5 discussions

This paper has pointed out the generalized local fractional Taylor formula with local fractional derivative. As well, we discussed local fractional Taylor' series with local fractional derivative. The generalized local fractional Taylor series seems to look like fractional Taylor's series with modified Riemann-Liouville derivative in the form. However, the derivative of the former is local fractional derivative, the later is modified Riemann-Liouville derivative. The differences of them was discussed in refs.[7,9]. Hence, when we make use of the generalized local fractional Taylor formula with local fractional derivative, it is important to defer from them.

References

- [1] K.M.Kolwankar, A.D.Gangal, Fractional differentiability of nowhere differentiable functions and dimensions, *Chaos*, 6 (4), 1996, 505–513.
- [2] K.M.Kolwankar, A.D.Gangal, Local Fractional Fokker–Planck Equation. *Phys. Rev. Lett.*, 80, 1998, 214–217.
- [3] F.B.Adda, J. Cresson. About Non-differentiable Functions. *J. Math. Anal. Appl.*, 263, 2001, 721 – 737.
- [4] F. Gao, X.Yang, Z. Kang. Local Fractional Newton's Method Derived from Modified Local Fractional Calculus. In: *Proc. of the second Scientific and Engineering Computing Symposium on Computational Sciences and Optimization (CSO 2009)*, 2009, 228–232.
- [5] X.Yang, F. Gao. The Fundamentals of Local Fractional Derivative of the One-variable Non-differentiable Functions. *World Sci-Tech R&D.*, 31(5), 2009, 920-921.
- [6] X.Yang, L.Li, R.Yang. Problems of Local Fractional Definite Integral of the One-variable Non-differentiable Function, *World Sci-Tech R&D.*, 31(4), 2009, 722-724.
- [7] X.Yang, F. Gao. Fundamentals of Local Fractional Iteration of the Continuously Nondifferentiable Functions Derived from Local Fractional Calculus. *Communications in Computer and Information Science*, 153(1), 2011, 398-404.
- [8] X.Yang, Z.Kang, C.Liu. Local Fractional Fourier's Transform Based on the Local Fractional Calculus, In: *Proc. of The International Conference on Electrical and Control Engineering (ICECE 2010)*, 2010, 1242-1245.
- [9] G.Jumarie. From Self-similarity to Fractional Derivative of Non-differentiable Functions via Mittag-Leffler Function. *Appl.Math. Sci.*,2(40), 2008,1949-1962.